SS8550 PNP EPITAXIAL SILICON TRANSISTOR

2W OUTPUT AMPLIFIER OF PORTABLE
RADIOS IN CLASS TO-92
B PUSH-PULL OPERATION.

« Complimentary to SS8050
* Collector Current Ic=-1.5A
« Collector Dissipation:Pc=2W (Tc=25T)

ABSOLUTE MAXIMUM RATINGS (T a=257)

Characteristic Symbol Rating Unit
Collector-Base Voltage Vceo -40 \%
Collector-Emitter Voltage Vceo -25 \%
Emitter-Base Voltage Veeo -6 \%
Collector Current lc -1.5 A
Collector Dissipation Pc 1 W
Junction Temperature T, 150 T
Storage Temperature Tsto -65 ~ 150 T

1. Emitter 2. Base 3. Collector

ELECTRICAL CHARACTERISTICS (T 4a=25T)

Characteristic Symbol Test Conditions in Typ Nax Unit
Collector-Base Breakdown Voltage BVcgo lc=-100/A, 1e=0 -40 vV
Collector-Emitter Breakdown Voltage BVceo lc=-2mA, Iz=0 -25 \Yi
Emitter-Base Breakdown Voltage BVego le=-10044, Ic=0 -6 \%
Collector Cut-off Current lcso Veg=-35V, Ig=0 -100 nA
Emitter Cut-off Current leso Veg= -6V, Ic=0 -100 nA
DC Current Gain hegr Vce=-1V, Ic= -5mA 45 170

hee2 Vee= -1V, lc= -100mA 85 160 300

hees Vee= -1V, Ic= -800mA 40 80
Collector-Emitter Saturation Voltage Vee (sat) | le= -800mA, lp=-80mA -0.28 -0.5 %
Base-Emitter Saturation Voltage Ve (sat) lc=-800mA, lg= -80mA -0.98 1.2 v
Base-Emitter Voltage Veae Vee= -1V, Ic= -10mA -0.66 -1.0 \Y;
Output Capacitance Cos Veg=-10V, le=0 15 pF

f=1MHz

Current Gain-Bandwidth Product fr Vce=-10V, Ic= -50mA 100 200 MHz

hre(2) CLASSIFICATION

Classification B C D

hee(2) 85-160 120-200 160-300

ELECTROMICS



SS8550 PNP EPITAXIAL SILICON TRANSISTOR
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